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PU-16080002040401 Seat No.
M. Com. (Sem. IV) (CBCS) (W.E.F. 2016) Examination
August - 2020

Advanced Corporate Tax Accounting :
(GRP -1 - ACC) (New Course)

1
Time : 25 Hours] [Total Marks : 70
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ENGLISH VERSION

1 (A) From following information of Shreeji Ltd. For A. Y. 12

2019-20, calculate total income of a company.

Particulars Amt.
(1) Net Profit (which includes Rs. 25,000
paid for penalty for late payment of
tax), consider following adjustments
10 TSR 62,68,000
(a) Depreciation (which includes
depreciation of Guest house
Rs. 60,000 ..........ccooeiieeeeeeeeee 3,30,000
(b) Carry forwarded unabsorbed
depreciation ..............cccooeeeiiiiiiienenn. 14,70,000
(¢) Carry forwarded un absorbed
business 10SS.....covveueeeeeeeeieeeeeaann, 48,96,000
(2) Short term capital gain on business
INVEStMENT ... 1,98,000
(3) Long term capital gain on sales of
shares (calculated U/S 48)......ccccevvveiiennnn.n. 5,04,000
(4) Short term capital 10SS ......ooeeiiiiiiiiiiiiie, 90,000
(5) Long term capital loss on sales
Of Shares ....ooiieeee e 1,00,000
(6) Gross interest received on
Government Securities ........ccccccceeeeeennnnnn.. 2,54,000
(7) Bank Commission paid for recovery
OF INTETOST e 14,000
(B) From the following information of Shyam Ltd. 8

Calculate Tax under Normal Provisions and also under
Minimum Alternative Tax (MAT). Consider surcharge
and education cess as per current rates.

(1)

@)

Total taxable income as per Normal Provisions is

Rs. 25,00,000.

Book Profit of a company under Section 115 JB

1s Rs. 1,05,00,000.
OR
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A)

®)

Radha Ltd. is a domestic Company. Company has 12
earned profit of Rs. 75 lakhs for the year ending on
31-3-2020, after Debiting and Crediting the following
items.

(1) Depreciation Rs. 24,00,000. Depreciation includes

depreciation due to revaluation of Fixed Assets is
Rs. 4,00,000 (As per Income Tax Act Depreciation

allowable is Rs. 27,00,000)
(2) Interest paid to Financial Institutions is

Rs. 6,00,000.
(3) Provision for doubtful debt is Rs. 1,00,000.
(4) Provision for uncertain liabilities Rs. 2,00,000.

(5) Transfer from Profit and Loss Account to General
Reserve 1s Rs. 5,00,000.

(6) Net Agricultural Income is Rs. 6,00,000.
(7) Amount withdrawn from the Balance of General
Reserve of 2014-15 is Rs. 3,00,000.

Other Information :
(a) Carried forwarded Debit Balance of
Profit and Loss Account ...... Rs. 12,00,000

(b) Unabsorbed Depreciation ........ Rs. 10,00,000

Calculate Book Profit as per Section 115 JB. Also
calculate Minimum Alternative Tax. Consider Tax rate
and Education cess as per current rate.

Gopi Ltd. has given you the following figures to 8
calculate the tax payable for Assessment year 2019-20.

Find out amount of tax credit.
Taxable income as per normal provision
of Income Tax Act..ccocevveeveneeeiin. Rs. 60,00,000
Book profit as per
Section 115 JB..cccooieiiieeii. Rs. 1,01,00,000
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2 Zeal Ltd. is in need of Rs. 2,50,00,000 for the development 20

of the business. Company has following options.

Particulars Option 1 Option 2 Option 3

Equity Share

Capital 2,50,00,000 1,00,00,000 50,00,000
14% Debentures — | 1,00,00,000 75,00,000
18% Loan — 50,00,000 1,25,00,000

Profit before Interest and Tax is 25% of total investment.
Consider Income Tax at 30%, Education Cess at 4% and
Corporate Dividend Tax at 20.358%, suggest the best option.
If profit before Interest and Tax will be 15% of total

investment what will be your answer ?

OR
2 Priya Ltd. is in need of Rs. 2,00,00,000 for a project. 20
Company will get 30% Profit before Interest and Tax on

Total Investment. Company can borrow money at 12% Rate

of Interest. Which option should be accepted by the company
from the following options. Consider Income Tax Rate 30%,

Education Cess 4% and Corporate dividend tax 20.358%.

Option 1 : Rs. 2,00,00,000 will be collected by Equity
Share Capital only.
Option 2 : Rs. 1,60,00,000 will be collected through

Equity Share Capital and remaining
Rs. 40,00,000 will be by loan.

Option 3 : Rs. 40,00,000 will be collected through Equity
share Capital and remaining Rs. 1,60,00,000
will be by loan.

If profit before Interest and Tax will be 20% of Total

Investment, what will be your answer ?
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3  One Manufacturing unit is in need of a Generator the 15
cost of which is Rs. 10,00,000. Company has two options,
which are as follows :

(1) A loan of Rs. 10,00,000 will be taken to purchase the
generator. This loan will be repaid in 5 equal
instalments of Rs. 2,00,000 each, with 18% interest on

balance amount.

(2) Instead of purchasing the generator, it will be hired.
Company has to pay Rent Rs. 3,00,000 P. A. Moreover
1% processing fees will be paid to the owner on total
price of generator in 15! year.

Other Information :

(1) Consider Tax Rate 31.20%.

(2) Present value per rupee for five years is as follows :
Year 1 2 3 4 5
Discount Factor [0.909 | 0.826 | 0.751 [ 0.683 | 0.621

(3) Rate of Depreciation is 25%.

From the above options, which is the best option ?
OR
3  Yesha Ltd. is a manufacturing company. One of the parts 15
used in production, company can purchase it from the
market or can be produced in a company. Additional
Information related to that is as follows.

This part can be produced on a new machine of Rs. 1,00,000
Life of the machine will be 10 years. To produce this part,
Raw material is available at Rs. 2 per kg. and labour charges
is 30 paise per hour. Foreman's salary is Rs. 1,500 P.M.
Other overheads are Rs. 20,000 for 25,000 units P.A. 25,000
kg Raw Material and 50,000 labour hours are required.
This part is available in market at Rs. 4.30 per unit.
Discount rate is 10%, Rate of Depreciation is 25%. Consider
rate of Income Tax is 35%. Give advice whether to purchase
or to produce.

4  Write short notes : (any two) 15
(1) Tax Planning and Tax Management
(2) Free Trade Zone
(3) Advantages of Tax Planning
(4) Explain Tax Avoidance, Tax Evasion and Tax Incidence.
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